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O N&UREe] B2 2WRALRES
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O A&z 32X H)IQYRE 2
=r= 1,570,0002%12.81/100 202
0 AELx2e 223 1828 223
43,595,000&%1.8/100 785
O A&zl B2 AHPE 22
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OIHASYHI (L MZLoI|ME E2H)(BX) 212,520 209,136 3,384
Xl 105,960
= 31,788
Al 74,772
101 eI t| 173,784 174,300 Ab16
Xl 86,592
= 25,978
Al 61,214
03 SRA(RINHL) 222> 173,784 174,300 Ab16
O FHSEAEA o2 173,784
O FHAEAL 0122 (6H)
2,097,0002 6122 150,984
Xl 75,49
= 22,648
Al 52,844
O SKEQIE 400,000 x5H 2,000
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Xl 1,000
=S 300
Al 700
O 33| 100,000 68 * 123 7,200
N 3,600
= 1,080
Al 2,520
O 8&=¢ 100,000& x 1 =123 1,200
N 600
= 180
Al 420
O EEFJtHl 800,000 x56H 4,000
N 2,000
= 600
Al 1,400
O EHZAHI 140,0002 x5 x 123 8,400
Xl 3,900
= 1,170
Al 3,330
M HASFESS 38,736 34,836 3,900
N 19,368
= 5,810
Al 13,558
04 SR (RIH)22N BEE=RES S 38,736 34,836 3,900
0 Z9x22) Peasya
25,291,000& * 14! 25,291
N 12,645
= 3,793
Al 8,853
0 222K 923
13,445,000 * 14| 13,445
Xl 6,723
= 2,017
Al 4,706
QA2 (FHEHEWHLENSFIAMY)(EX) 76,692 74,719 1,973
= 76,692
101 @124H| 58,248 58,248 0
= 58,248
03 SR (RINHA) 222+ 58,248 58,248 0
O MAEAL o5
2,097,000& 2H* 122 50,328
= 50,328
0 s4H| 130,000 x2& * 122] 3,120
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B WHSHAH|(HMDSE)
&l D122 (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SEET] 6,016
O BMDSA g2z
8,000 x8 x4 6,016
202 O4H| 2,800 2,800
01 =LHOdH] 2,800 2,800
[ fMSSZHI 20,0003 *7F 20 2,800
203 AR F=&lH| 3,520 3,520
02 SRR FAIL| 520 520
O HNSAD|EE 40,0002 x 13 520
M EAN2IHRFA| 3,000 3,000 0
O3S 250,000& =123 3,000
204 MM AH| 1,800 1,200 600
01 AHZHRHAH| 1,800 1,200 600
O BMUsRAE 150,000& 123 1,800




